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Time_~ Three hours
(Maximum Marks: 100)

1. Answer all questions in PART A. Each question carries one mark.

2. Answer any ten questions in PART B. Each question carries two

marks.

3. Answer all questions by selecting either A or B. Each question

carries fifteen marks. (7+8)]

How many electrons are there in the ultimate orbital of inert gas?

1.
2.  What is nanometer?
3.  Name an ore of titanium.
4.  Why gypsum is added to cement?
5. Name any two natural abrasives.
6. Define equivalent mass of an element.
7. State modern periodic law.

8. What is buffer solution?

9. What is coagulation?

10. What are nano particles?

11. Define catalyst.

12. Give the composition of stainless steel.
13. Mention any two uses of tungsten.
14. What is powder metallurgy?

15. What is nuclear fusion?

16. What is glazing?

17. Give any two uses of silica bricks.
18. What are biomaterials?

19. What are abrasives?

20. What is composite material?
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PART - C

What are the applications of pH?
Define valency of an element.
suitable example with a neat diagram.

(Or)
Write notes on d-block elements in the Periodic table. o
Define pH of a solution. Calculate the pOH of 0.1
solution.

Explain lonic-bond with a

Write notes on (1) Brownian movement (2) Electrophoresis.
What is called nano technology? Illqstrate the various
applications of nano technology in medicine.

(Or)
Write notes on types of catalyst with a neat diagram. :
Define colloid. Describe industrial applications of chLo:ds.

Describe the extraction of iron.

What is the purpose of heat treatment of steel?

Write notes on various heat treatment processes of steel.
(Or)

Explain the extraction of titanium from its ore.

Write the applications of powder metallurgy.

Define any five components of a nuclear reactor.

The decay constant of Co-60 is 0.132/yr. Calculate its half-
life period. If the quantity of Co-60 is 2.5g, what will be the
quantity that remains after 10.5 years?

(Or)
Describe the manufacture of white pottery.
What are the properties of a good refractory?

List the differences between thermoplastics and
thermosetting plastics.

What are abrasives? How are they classified? Give
examples. -

(Or)

Explain the mechanical properties of plastics.
Mention the applications of composite materials.
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